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The time passed; it is forbidden to — KWW JINIT2 IOK 1T 2V
derive benefit from it. This is obvious!

Overview

The X713 cites our 71w»n which states 7IX3772 70K 1317 72v. In our texts the X n)
asks; '\uwo'. However "1 omits this question of Xvws. Our MoOIN
restores the X07°) of X w5 and resolves s""wA difficulty.
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>'"21 does not include the word 'Rwwe' in the text, since 3''71°9 argues with
our 7w»n and maintains that one is permitted to derive benefit from y»n
all seven days of noo. The X713 cannot ask Xv>ws when there is a npYomn!

m>doIN anticipates a possible solution that we can be 'Rv*ws' 07, and rejects it:
—Nuo9 NPT NNINA MHONRT ROV ¥IIY PPN)

And we cannot explain that the X713 is asking as follows: it is obvious,
from an inference of the Xw"9 of our 7wn, that y»r is IRIT2 MOR after

1MI03R. The Xw™ states X172 N1 121 2IRw 7vw 2. It is therefore obvious that after this
time of 121 H2WRw YW 92, it is X172 MOXR. The question of 'Rwwd' is, why write it again in
the &9°0.

mooIn rejects this interpretation. It is not sufficient reason to ask Xv*w» for the duplicity -
— 199349 NN 1950 MMIPN NN NINN 7917

For it is the manner of the Xin in many places to repeat himself.

mMooIn adds a second reason for rejecting the aforementioned solution:
— %9591 2N NYT 1IN

And furthermore if this were the question (why does the m1wn repeat itself)
the X713 did not properly answer this question.

mooIn justifies the X073 of 'RLWo":

"2y .
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? The proposed solution is that granted it is not Xw’ws that X372 MOX 13T 72y (since 3"71"7 argues); however
it is Xvwo (from the X¥>77 Xp17) that the Xin of our 71wn maintains IRIT2 MOX 1117 12y; why the repetition!

* The X3 answered that the 7awn is teaching us 737 MK also for 11277 Myw. However if the question is
why the repetition; then it is obvious from the Xw" that the X377 707 is only before 71277 nyw (for the m1wn
states INRITI NI "1 AW AYY 93), inferring that once 11277 Myw begin (when it is not 191 71387 M) it is
TRIT2 MOXR. See X"2awnn moon who answers this (second) question that the 7wn is teaching us that even
X2 we are not PWITRY Wi (as 27 AR D79 27 states).
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And it seems that the X7 asks Xuswp, since we learnt in a mw» in the
first pap that y7n is burnt before noo -

— NI NYONR 'N1YN

This indicates that the Xin of the 71w» maintains that Y217 is IR372 9ION, not

like 3", therefore there is the question Xv>w» that this X1n maintains that 70X 1317 712V
8
NIT2.

mdoIn explains how 79°W 21°17 proves R MOK.
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For according to 2"/ it is not necessary to burn y»n, but rather one
can offer it to his dog or sell it to a 321. If we maintain that yn is 78372 0K
then it is understood that ww n%nna when there is an 71X MO°X the (only) way to be yan
van (and be 0»pn the Mxn of M°awn) is through burning the y»r1 (and not deriving any
7X17 from it); however according to 3"7°7 who maintains that one is permitted to derive
7X17 from y»n during the entire 110, why is it necessary to burn the n*ww 7yw2 ynn when
he can then give it to his dog or sell it to a >332 and thereby will be 7¥2n his y»r and also
have 7R17.

Summary
The question Xv*wd is based on the 7awn which states wWw n%nn2 1O
indicating that y27 is X172 70OK; not like 3"77.

Thinking it over
Why is the question of 1127 9195% Xin77 717 only on the w15% XY and not on
maoin w1 ?!

5 Mmoo is following the lead of the 'wn9% XY that (the Xv*wd does not mean that this "7 of X7 MOX is
RUWwd [since 2" disputes it], but rather that) it is Xv*wd that our XIn maintains 1NXIT2 TOX AT N2V,
however n1voIN derives this XYW (not from an inference of the X of our 71w» but rather) from a direct
statement of a previous m1wn. See ‘Thinking it over’.

% mooin (somehow) assumes that all the n11wn in these P75 (that deal with yn) are of the same opinion
(unless where there is a stated np12nn). If one 71wn requires 79w we assume the others require it as well.

7 mooin will shortly explain this.

¥ mooin (seemingly) does not answer the second question (19w “1wn K27 737). See X"2w77 Moo in the end
of footnote # 4. See also (717X7) X"w"n who explains that if not for our 71wn we would not know that ynn
is X172 MoK even Nww 7vwn (despite the fact that the previous 7Iwn states Ww NoIN2 POWY), because since
ww x> he would certainly have to burn it (for it is 78372 M0OX) therefore he mentions ww nnna poen
(even though in this 719> he may have X171 from it ¥2°wan nnn yp°01%), instead of 1275 *19% 1% .

% It should be noted that (even) according to 3"77 one is not permitted to have y»r in his possession from
(MPww Aywn 132771) MXn on 9"V,

19 See w2 who explains that we cannot say that 3";1 agrees with "3 that 9™ X9X y27 1972 PX;
for *"1 derives it from M1, however 1" cannot derive 719 W 211 from N1 because N1 is 7IRIT2 MOR and
YAn is 7% 0 (according to A"i).
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